n[226):= (% = EL &E EtL Badae R
1%7.56 (0.47 +s) (0.47 +5s)

W =
(0.47 +5s) (41.01+12.80's +5?)

1%7.56 (0.47 +s) (0.47 +5)

(0.47 +s) (41. 01+12.80s + sz)

7.56 (0.47 +s)
41.01 +12.8s + 52

Out[226]=

7.56 (0.47 +s)
41.01+12.8s +s2

out[227]=

n[22g]:= (% = (/] sEE ° & O *)
WK =w/. s> 1| xonega

7.56 (0.47 + i omega)

Out[228]=
41.01 +12. 8 i orega - onega?

in229= T = (Abs [wk])"2

0. 47 + i omrega
out[229]= 57. 1536 Abs

41.01 +12. 8 i onega - onega?
in230)= fvhod =1 (% 1 Qe E *)

out230]= 1

in31)= fvihod =f = fvhod

0. 47 + i omrega

out[231]= 57. 1536 Abs
41.01 +12. 8 i omega - onega?

—o

n23zi= (*  ~ T —%)
Pl ot [fvi hod, {omega, 0, 300}, PlotRange - Full ]
0.35]
0.30f
0.25f
o.zof
Oout[232]= i
0.15]]
0.10f

0.05

50 100 150 200 250 300

in233= P = NIntegrate [fvi hod, {onmega, O, Infinity}]

out[233)= 7. 05158

ReE L W/6

*)
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In[234]:=

Out[237]=

In[238]:=

out[238]=

In[239]:=

out[239]=

In[240]:=

Out[240]=

In[260]:=

Out[260]=

In[242]:=

out[242]=

In[243]:=

Treg =

Si gnma

onmegal = 0;
shag = 0. 1;
Wi | e[shag = 10" -5,
{Wiil e[ (NIntegrate[fvihod, {onmega, O, onmega0}] -0.95 %xp) <0, onmega0 = onegal +shag],
onmegal = onegal - shag, shag = shag 7/ 10}]
omegal = onegal - shag * 5

161. 934

p95 = NI ntegrate [fvi hod, {onega, O, onegal}]

6. 699

(» =70 . *)

Tkvant = 0.1 %Pi /onegal (% 2 0.1 - R E Lt *)
0. 00194005

ht = I nverseLapl aceTransform[W /s, s, t]

7.56

(0.0114606 + e (64702236071t ((_0. 00573031 + 2. 07206 i) - (0. 00573031 +2. 07206 i) e #7241t ))

Pl ot [ht, {t, O, 10}, PlotRange - Full ]

04l
03

0.2

hf [t ] = Abs [ht ]

7.56 Abs |
0.0114606 + e % 402230074t ((_0, 00573031 +2.07206 i) - (0. 00573031 + 2. 07206 i) e #4714 11 |

(» ~ a of [ 2 a of Eox)

k =10000; (*xE° - E , ? [ b %)

dt =10 /Kk;

hust = hf [10000] (* & Lt e L ox);

hmax = hf [0] (* L o Qe L ox);

(» La® b L@ h(t)=0.95 £ h(t)=1.05,

Ae L R |[h(t)-1]-0.05=0 t ° b &t *)

For[i =1, i <k+1,
{If [Sign[Abs[hf [dt % (i =1)] -hust] -0.05] # Sign[Abs[hf [dt = (i)] -hust] -0.05],
Treg=dt » (i -0.5)], If [hmax < hf [dt =i ], hmax = hf [dt *i]1]}; i ++]

si gmaper = Round [100 » (hnax - hust) / hust, 0.017]; (* a of L ox)
Print ["Treg = ", Treg, " &]

Print ["Sigma = ", sigmaper, " %"]

0.7165 &

= 429.31 &
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nsi= (%% °- L & L a o L ox)
Nkvant = Ceiling[Treg / Tkvant ]

out[251]= 370

In[252]:= Stextrop = 3 (* op (e R X 2

Masot kl on = {} (» &= @® L) ;
hi zm= Tabl e [0, {Stextrop}]
(» o= & (A & B ( ° 1) t@te © ] £ @E@e o bhx);

in[2ss):= For [i = Stextrop -1, i <= Nkvant, i ++,

{Ttek = Tkvant =i ;
hTtek = hf [Ttek];
hi zm[[1]] = hf [Ttek - Tkvant = 27;
hi zm[[2]] = hf [Ttek - Tkvant % 17;
hi zm[[3]] = hf [Ttek - Tkvant % 07;
(x» e ° ¢ ® *)
hextrop = hizm[[3]] + Tkvant %= (23 xhizm[[3]] -16 xhizm[[2]] +5*xhizm[[1]]) /12;
Masot kl on = Append [Masot kl on, Abs [hf [Tt ek + Tkvant ] - hextrop]];

L

In[256]:= (% t &E L L @ L
tee b a £ E&e oF a £ ox)
Mat ozh = Mean [Masot kl on]

out[2s6)= 0. 00234038
In257):= (% E £t «E @® 12 @® L ox)
si gma = St andar dDevi ati on [Masot kl on]

out2571= 0. 00233929

nesgl= (¢ To—<" 0 — T 7T %)
b=3 (1.5 - £ ° a L ox);
Porog = Mat ozh + b * si gma

out259]= 0. 00935825



